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Ay X + 8yX, +. 4+ 8, X b,

2n”*n

QX A X, e+ X | b

no N ? Q/ no N n N _ o I
(G Mx1 1871091958 BMIEN (FAILS S FNDPEITTRSINBIBSONE (FAIRANESI N 5s:

a; .., X b,
Ay 8y..8y, X, b,

ml m2***'mn n m

0o N o Y
MBI GRTtisammssms A, X 83 B iginmis:GOsasmnssisams m
Dan o, ' QU
RSBMIESTS SIS NasgmeEISgan S wBmIth Easws AX =B (1)
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X + X, + X+ X, + X% =3
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)
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Z2CHYAN 27070 | sndhen(Gauts Cofactor ss A 9 s (EauEhay)
[ Cu Cop+-Con

}sth@notss swrioh adjointis A Ssnssmsisnes adj(A)

3 2 -1
goinath  neth(Gas A=|1 6 3| se:th(Eas Cofactor 35 A Sansidims
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Sessdes
! N o o 3
2 15 A M GRmSMIs IMSERANBANISANSSSERINmStS A s A’ =1

n time
o o )
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